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PROGRAM  Newion Raphson;

TYPE Vector = array[1...nJof real;
VAR A, A, D1, El, E2, Sum1, Sum2, Sum3, Y :real;
X:Vector;

I, I:integer;
BEGIN
Write('Enter A, :");
Read( A,);
J=1;
REPEAT
Sum1l :=0; Sum? := 0; Sum3 :=0;
IFJ=1THEN
BEGIN
FORI:=1TO n DO
BEGIN _
Write("Enter X',1,'=');
Read(Y);
x{lj =Y;
DI =x[1]- A,;
El =DI1*Di +1;
E2 =1/E1;
Sumn] := Sum] + D1/El;
Sum2 := Sum2 +E2;
Sum3 := Sum3 + 2*E2*E2;
END;
A= A, - Suml/(Sum2-Sum3);
END
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ELSE
BEGIN
Ay=A
FORI:=1TO n DO
BEGIN
D1 =x[I] - A;;
E1=DI1*Di + 1;
E2 = 1/El;
Sum! = Suml + D1/El;
Sum? = Sum?2 +E2;
Sum3 := Sum3 + 2¥E2*E2;
END;

A = A, - Suml/(Sum2-Sum3);
END;
Joe=JF+1:
UNTIL A=A,;
Write("'a="', A :12:5) ;
Readlin
END.
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